L’ Arrondissement (D)
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8,847

6,419

96,531

72,897

43,354

Arrondissez chaque nombre ci-dessous a la centaine pres.

320 556
811 915

369 3,745
8,493 4,108
3,470 3,895
53,162 27,180
20,777 35,026
84,147 385,152

144
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9,749

9,016

5,668

28,138

61,318

153,400

MathsLibres.com




L’ Arrondissement (D) Solutions

352
400

926
900

559
600

8,847
8,800

6,419
6,400

96,531
96. 500

72,897
72,900

43,354
43,400

Arrondissez chaque nombre ci-dessous a la centaine pres.

320 556
300 600

811 915

800 900
369 3,745
400 3,700
8,493 4,108
8,500 4,100
3,470 3,895
3,500 3,900
53,162 27,180
53.200 27.200
20,777 35,026
20.800 35.000
84,147 385,152
84. 100 385,200

144
100

776
800

9,749
9,700

9,016
9,000

5,668
5,700

28,138
28.100

61,318
61,300

153,400
153,400
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